
!"#$%&#'()*'+'))

FRAMEWORK 
easy track 

System Easy Track is a framework, drawn up for the photovoltaic system on an open area.  The fastening 
system, Hi Prom, was developed as a supporting system for fastening framed modules.  It can, however, 
also be used for laminated modules.  Thanks to its composition of aluminum and galvanized steel, Easy 
Track is maintenance-free for the duration of the life-span of the the solar power station. 

Rich Compatibility of Modules 
All kinds of modules from framed-module 
producers can be used.  The modules are 
fastened by middle and end clamps and socket 
screws M8x10 on a horizontally crossing 
aluminum carrier rail (all of which have been 
certified by the manufacturer). 

Excellent Adaptability 
It is possible to drive in the supports to whatever 
depth needed and that is how they straighten the 
imperfections of the surface along the entirety of 
the structure.  That is why it is not problematic to 
lay them to be parallel with the countryside. 

Maximum Life-span 
A long life-span and being maintenance-free are 
basic photovoltaic attributes.  The construction, 
made from aluminum and galvanized steel, 
guarantees a long life-span and resistance against 
corrosion.  The appearance of corrosions in 
places of contact between the aluminum and 
galvanized steel is guarded by a necessary 
dividing insert. 

Remarkably Lower Costs 
System Easy Track is known for each and every 
part which has already been, on the large part, 
pre-assembled.  Quick installation is thanks to the 
welded aluminum support (jointed bar 70/70/40).  
After mounting the supports, it's necessary to 
tighten down the attachment to the support with 
four screws M10x30.  Afterwards, the aluminum 
module support beam is mounted by two screws 
M10x85.  And the last of the three steps of the 
installation process is, after situating the modules, 
tightening them with fitted screws M8. 

Minimal Use of Tools 
Special tools necessary for construction are only 
the socket screw keys and a wrench.  A detailed 
list of instructions included will aid you to a 
successful installation of Easy Track. 



!"#$%&#'()*'+')

FRAMEWORK 
easy track 

,-#'.-%)-/)&%0+'(('.-%)))))))))))))))))))))))))))))))))))))))))))))) +$")0-&()

1&%2)3"0&0+'%#")))))))))))))))) '##-32&%4)+-)+$")#-%2&.-%0)-/)+$")3"4&-%)'%2)+$")&%2&5&26'(&7"2)0+36#+63'()
'%'(80&0)

9%-:)(-'2))))))))))))))))))))))))))))))))))))))))))))) '##-32&%4)+-)+$")#-%2&.-%0)-/)+$")3"4&-%)'%2)+$")&%2&5&26'(&7"2)0+36#+63'()
'%'(80&0)

;('#"<"%+)-/)+$")<-26("0)))))))))))))))))))))))))))))))))))))))) &%)')3-:):&+$)+$")=-00&>&(&+8)-/)0+'%2&%4)-3)(8&%4)
))

?33'%4"<"%+)-/)+$")<-26("0@0(-=")-/)&%#(&%"@)
*&0+'%#")-/)+$")(-:"3)<-26(")"24")/3-<)+$")
43-6%2)
))))

A"B&>(")

9='#&%4)-/)+$")06==-3+0)))))))))))))))))))))))))))))))))))))))))) '##-32&%4)+-)+$")0+36#+63'()3"C6&3"<"%+0))

D-3<0)) *ED)FGHH)I)+$")&%A6"%#")-%)+$")#'33&"3)080+"<)JKLMNM*J)O)='3+)FPFP)I)+$")
('8I-6+)'%2)#-%0+36#.-%)-/)+$")'(6<&%6<)#'33&"3))080+"<0)

Q'+"3&'() +$")#-%0+36#.-%)=3-R(")'%2)<-26(")#('<=0)S)#-<=3"00"2)'(6<&%6<)JD)
?1ITGTG)!TTU)'%2)-+$"3)='3+0)/3-<)+$")4'(5'%&7"2)0+""(P)

N-(-3) #-<=3"00"2)'(6<&%6<))

;3-+"#.-%)'4'&%0+)#-33-0&-%)))))))))))))))))))))))))))))))))))))) '(()='3+0)$'5")')7&%#)('8"3)-/)'+)<&%&<6<)VG8<)&%)+$&#W%"00)'##-32&%4)+-)
+$")*ED@JD)E9M)FXTX@FXYFZ))

1'33'%+8)) !:-I8"'3):'33'%+8)'%2)R5"I8"'3)46'3'%+"")/-3)+$")=3-26#+[0)#$'3'#+"3&0.#0))

easy track 

e
a

s
y

 t
r
a

c
k
  
!"
#$
%&
0#
$"

)\
%2

"3
6%

4"
%)
6%

2)
E3
3+
]<

"3
)5
-3
>"

$'
(+"

%)
)Z
GF
G)
^
)K
(3
&#
$)
_
&"
3(
);
3-
`"
W+
<
'%
'4
"<

"%
+)

'5'&('>(")/3-<)

;-0P)F)) E;J)FZG)06==-3+)>"'<):&+$)`-&%+))
;-0P)Z) L&4$+I'%4("2)>'3)YGBYGBa):&+$)
) ')>-'32)'%2)`-&%+))
;-0P)a) !$")3-+'.%4)$"'2)-/)+$")E;J):&+$)`-&%+))
;-0P)X) KI=3-R(")TGBaGBa)
;-0P)H) KI=3-R(")0"3&"0)

Q-6%.%4)-/)06==-3+0)&%#(62"2)&%)2"(&5"38)

M5"35&":)

b,
M
1
JL
c)

bK
;;

JL
)c
)

'5"3'4")2"=+$)-/)
<-6%.%4))

06==-3+)>"'<)


